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Run 4344 quartetwise, posHQ: Beam DH

aamd lned ok
[ LEEEf DN Entries: 83297 Entries: 4200
— Mean: 51914 +/- 0.0000 Mean: 5.8684 +/- 0.0011 42070
— — Laser OFF Std Dev: 0.2530 +- 0.0006 | Std Dev: 0.2300 +- 0.0008 5.868
— S0 DBV 0.2309
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Run 4344 quartetwise, asym0Osub: Beam ON
- Laser ON Entries: 83297 Entries: 42070
— Mean: 14.3248 +- 02101 Mean: 0.2429 «- 0.2602
— — Laser OFF Std Dev: 63.2244 +- 0.1549 | Std Dev: 533787 +- 0.1840
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Run 4344 quartetwise, negHO: Beam DIN

Positive Hel (ON): 8.191423 +/- 0.000877
Negative Hel (ON): 8.126218 +/- 0.000874
Positive Hel (OFF): 5.868372 +/- 0.001126
Negative Hel (OFF): 5.867259 +/- 0.001132
-------- Sums and Diffs

On Diff: 0.065205 +/- 0.000998

Off Diff: 0.001113 +/- 0.001192
On Sum: 16.317641 +/- 0.001438
Off Sum: 11.735630 +/- 0.001917
-------- Asymmetries
On Asym: 14.230597 +/- 0.217973 (ppt)
Off Asym: 0.242900 +/- 0.260245 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 4.582011 +/- 0.002396
BkSub Asym: 13.987697 +/- 0.339469 (ppt)

- E— aami_lasl nagHD
—— R LE.EE[ DN Entries: 83297 Entries: 4300
— Mean: 8.1262 +- 0.000% Mean: 5.8673 +/- 0.0011 42070
— — Laser OFF Std Dev: 0.2521 +- 0.0006 | Std Dev: 0.2322 +/- 0.0008 5.867
[ oo 0.2322
:I 1 | 1L 1 11 | 1 111 L.l | | | 1 1 1 111 | 1 111 | 1L 11 [ 1 1 1
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-------- Histogram Vars



asym (AccO) / ppt

Run 4344 quartetwise, posHO vs time
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Run 4344 quartetwise, negHO vs time
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Run 4344 quartetwise, bcm vs time
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